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JCB—f&h—F 7/31(RK) 100,000 0 1,500 825 2,175
JZFHh—H—F 7131(K) 100,000 0 1,500 825 2,175
JYZFHAI—ILRAh—F 7/131(K) 300,000 6,000 14,000| 10,400 17,600
JYSFHhIT—IILEH—F 7131(K) 500,000 6,000 16,000| 10,400 21,600
ANAT A9 Zh—F(—h%) A=#®&37ALURA | 600,000 12,000 19,000| 14,300 23,700
JYZFAT—ILRAh—F 7/31(K) 600,000 6,000 17,000| 10,400 23,600
ANAT Ay ZH—R(— %) A=#%37 AL | 700,000 22,000 30,000| 14,300 45,700
YZFhId—ILRh—F 7/31(K) 1,000,000 16,500 36,750 10,400 63,100
VYZFHAIT—)LRAh—F 7/31(RK) 1,500,000 24,000 53,000| 10,400 95,600
ANATZ Ay RT—)LRHh—F A=#%37 A LA | 1,800,000 48,000 68,000| 34,100 101,900
JYZFHAI—ILRAh—F 7/131(K) 1,800,000 24,000 56,000 10,400 101,600




